HH100 Portable Space Heater UT-65044 - Exploded View

BURNER HEAD
ASSEMBLY



Ref# Part#

1

O 0 1 O L B W N

B Bh W W W W W W W W LW WD NN DN DN NN NN R~ /= /= = /2 = = = = =
— O O 0 NN N R W=, O O 0NN R WD =, O 0O 00NN R WD~ O

0053136
0053132
0052919
0052918
0053125
0053102
0053103
0053130
0053120
0053119
0053104
0053128
0053135
0052953
0052920
0052921
0053117
0053106
0053110
0052948
0052909
0052924
0052922
0053107
0053105
0052947
0053122
0053133
0052949
0053124
0052951
0053129
0053126
0053127
0053118
0053137
0052914
0053134
0052958
0052939
0053123

Description
UPPER SHELL
CHAMBER- Combustion
PHOTOCELL BRACKET
PHOTOCELL ASSEMBLY
NOZZLE
WASHER- Nozzle
SPRING- Nozzle
SLEEVE- Nozzle
BODY- Burner head
FITTING- Barb.
SPARK PLUG
FAN
MOTOR (Split phase)
PUMP- Body
INSERT- Rotor
ROTOR- Pump
COVER- End pump
FILTER- Intake
COVER- End filter
BALL- Steel 1/4 dia.
SPRING- Relief
SCREW- Adjusting
PLUG
FILTER- Output
FILTER- Lint
BLADE
BRACKET- Motor Mounting
SOLID STATE RELAY
NUT- Lock hex
GUARD- Fan
IGNITOR
FUEL LINE
FILTER- Fuel
FUEL LINE TUBE
AIRLINE
SHELL- Lower
CLIP- Nut
TANK- Fuel
CAP- Fuel (includes gasket)
CONTROL- Safety
COVER- Side

Qty Context Note
1

e O A e e e e e T e T O T S N e R S R N e e e e T e e e T e L S T e S S N R S



Ref# Part# Description Qty Context Note

42 0052952 IGNITOR CABLE ASSY. 1
43 A0052962 POWER CORD ASSY.

44 0052913 BUSHING- Strain Relief

45 0053141 DECAL- Fuel

46 A0053139 RUBBER BUSHING & BUMPER KIT
47 0053142 DECAL- Reset

1
1
1
1
1
48 0053140 DECAL- General Info. 1
49 SCREW- #6-32 x 3/8 1
50 SCREW- #10-32 x 1/2 1
51 SCREW- #10-32x 1 1
52 SCREW- Grounding #8-18 x 1/4 1
53 SCREW- #10-16 x 1/2 1
54 0053112 WHEELS 2
55 0053121 AXLE 1
56 0053108 FRAME SUPPORT WHEEL 1
57 0053101 FRONT HANDLE 1
58 0053109 MOUNTING SCREWS 8
59 0053115 NUT CAP 2
60 0053131 NUT- Hex Lock #10-24 8
0052903 HANG-UP THERMOSTAT 1



HH100 Portable Space Heater UT-65044 - Wiring Diagram

WHITE WHITE
RESET [: SAFETY R
BUTTON CONTROL B WHITE
w
TRANSFORMER
WHITE
BLUE
BLACK
POWER '
SOLID
a5 RED STATE
a E GREEN RELAY
[ -
RED
120V
60 HZ IDJ
SPARK PLUG
BLACK RED RED
Rendered by LeadVenture, Inc.




